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FVn = C0 × [ 1 + (r × n ) ] 

 

 

FVn = PV × (1+r)
n
 

 

 

FVn  = PV × (1+r/m)
m × n

 

 

 

reff  = (1+r/m)
m
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PVA = AN * PVIFA (r,n) 

 

 

 

 

 

 

 

D = ∑ 

1 + r * ti/365 
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tn = t0 * (1+i*n1/360(365))*(1+i/m)
N
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Pbruttó = Pnettó + Felhalmozott kamat 
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rr =               -1 * 365/n 
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              Nettó eszközérték 
                   
                 Befektetési jegyek darabszáma 
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D = V*i*n/360(365) 

d = 360(365)*i / (360(365) - i*n) 

 

 























r

r1

1
1

PVIFA
n

nr,

(k + bv)i 

i=1 

n 
(k + bv)i 

i=1 

n 

NE1=  


